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b PEER EB9R s BB et HE < st
T2k hi—H A110141113 e 80.36 1 4000
T2k ht+t—HF A110141115 FOX 79.72 2 3000
T2k ht—H A110141111 BRO) 79.32 3 LN
T2k ht_H A109141105 204 93.29 1 4000
T2k ht_—H A109141108 73018 86.35 2 3000
T2k hEt_H A109141121 BOF 81.76 3 EEEEIIN
T2k ht—=F A108141106 20&- 89.1 1 4000
T2k ht—=F A108141116 FORK 88.61 2 3000
T2k hEt=H A108141109 MOF5 87.97 3 EEEEIIN
T2k h IR A107141115 08k 93 1 4000
T2k h IR A107141111 afe)z3 91.91 2 3000
T2k H1 U A107141134 BO= 89.67 3 2000
T2k hiE—H A110147120 %0 89.89 1 4000
T2k hiE—H A110147109 RO 88.61 2 3000
T2k hiE—H A110147113 Bo% 88.29 3 EEEESIIN
T2k hEE_"H A109147103 =O0#t 91.83 1 4000
T2k hE_"H A109147113 F O 89.07 2 3000
T2k hiE_H A109147102 T0%) 88.81 3 EEEETIN
T2k hiE=H A108147109 =08 91.26 1 4000
T2k hiE=H A108147107 filoE 89.52 2 3000
T2k hiE=H A108147108 EZORR 89.03 3 EEEETIN
T2k HEPIE A107147101 FE O 93.14 1 4000
T2k HEPIE A107147107 - {oJvy 88.64 2 3000
T2k HEPIE A107147113 FO# 88.45 3 2000

BEER HAESZEME—F | A110182112 ZBO¥Hi 90.67 1 4000
BEER HAZEME—F | A110182111 FOoi 88.83 2 3000
BEBh HAZEME—F [ A110182145 £0E 87.67 3 2000
BEBR HASMBE_F | A109182101 #0139 93.23 1 4000
BEBR HASMBE_F [ A109182107 ROl 92.04 2 3000
BEBR HASME_F [ A109182103 KROf# 91.27 3 2000
BEBR HASMBE=F [ A108182150 BROME 92.63 1 4000
BEER HASMBE=F [ A108182120 BROFx 91.81 2 3000
BEER HASMBE=F [ A108182122 5ROAE 91.64 3 2000
BEBR HASMEMNE [ A107182104 22014 88.64 1 4000
BEBh HESMSN® | A107182120 0%z 85.45 2 3000
BEBh HESEMEN® | A107182112 #FOH 82.52 3 2000
BEBR HASMBEAE | 1061331114 HHO%% 88.83 1 4000
BEER HASMBEAE | 1061331150 =0X 87.43 3 2000
BEER HAESZHmE—F | A110183110 EO& 87.06 1 4000
BEER HEZHmE—F | A110183116 =0R 86.19 2 3000
BEBR HASEE—5 | A110183111 F 05 83.59 3 2000
BEER HASEHM _F [ A109183104 =0%f 88.56 1 4000
BEBR HASEHM _F [ A109183115 BROMY 88.04 2 3000
BEBR HASEHM _5 [ A109183113 FO1h 87.76 3 2000
BEBR HASEHM =50 [ A108183120 (0] 92 1 4000
BEBR HAhS&HH =50 [ A108183106 5ROF 90.5 2 3000
BEER HASEHM =50 [ A108183127 =08 90.4 3 2000
BEBR HAS&HMIE [ A107183109 FEOHT 91.65 1 4000
BEBR HAS&HMIUE [ A107183146 FOM 87.21 2 3000
BEER HASEHEIE | A107183121 =08 85.3 3 2000
BEBR HASEHEAE | 1061332104 MO 81.08 3 2000
KEER |HASBRER—F A110179104 70% 87.24 1 4000
KEER |HASBRER—F A110179101 BRO%E 87.21 2 3000
KEZE |HASRER—H A110179105 LE[0k2] 85.93 3 EEEETIN
KEER |HASRER _F A109179111 ZBO¥Hi 89.1 1 4000
KEZR |HASRER_"H A109179103 =0 88.86 2 LN
KEZE |HASRER_H A109179105 ZFO5 88.19 3 EEEESTIN
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KEZE |HASRER=H A108179105 ENOES 93.93 1 4000
KEZE |HASRER=H A108179115 =0 88.62 2 3000
KEZER |HASRER=5 A108179107 HROE 86.79 3 EEEETIN
KEZE |HASRERIIE A107179103 BROE 90.61 1 4000
KEZE |HASRERIIE A107179107 HOtT 87.83 2 3000
KEZE |HASRERINE A107179101 MO 87.06 3 2000

T2k AR =H B110147101 HOH 86.84 1 4000
T2k AR =H B110147102 =01A 85.9 2 3000
T2k AR =H B110147120 ZFOfR 83.85 3 EEEESIN
T2k AR B109147112 FO# 85.29 1 4000
T2k AR B109147102 BRO3Z 80.95 2 3000
T2k AR B109147106 BRO=F 78.5 3 EEEETIN
T2k RI=H B110143101 BOE 82.52 1 4000
T2k RI=H B110143102 #OFS 82 2 EEEETIN
T2k RI=H B110143109 BOoE 78.95 3 EEEESIIN
T2k T B109143107 EROHH 94.53 1 4000
T2k R B109143101 FOE 94.23 2 3000
T2k R B109143117 ZO4#E 90.79 3 EEEEIIN
PNl H_&E%==/% | B110133301 #2052 91.25 1 4000
S B2 R H_&Es—=/% [ B110133307 22058 89.78 2 3000
HNEE R H_#&E==/%x | B110133314 MOE 89.6 3 EEEETIN
S B2 R H_#&EsM/x [ B109133310 LO&E 94.25 1 4000
S B2 Ee H_#&EsM/x [ B109133323 &=03a 91.61 2 3000
S B2 Ee H_#&EsM/x [ B109133330 FO/x 91.43 3 EEEETIN
S B2 R H_EEH=-A | B110134305 BROGA 93.15 1 4000
S B2 H_&EH=A [ B110134303 E3OfZ 91.52 2 3000
PNl H_&EH=A [ B110134315 Box 90.8 3 2000
S B2 R H_&EHNA [ B109134315 EOox 93.45 2 3000
PNl H_&EHNA [ B109134317 150E 92.43 3 2000
BE2M5 H_&fix=F [ B110182112 HROER 92.5 1 4000
BE2k5 H_&fi=%F [ B110182108 HROR 92.08 2 3000
BE2M5 H_&fix=F [ B110182115 RO 90.48 3 2000
BE2M5 H_&MxHE [ B109182117 e Ok 93.4 1 4000
BE2M5 H_&M#xH® [ B109182110 BROZE 93 2 3000
BE2M5 H_&MlHE [ B109182118 BROMY 88.96 3 2000
BE2k5 H_f#miE=5 [ B110183101 105 88.46 1 4000
BE2M5 H_##mi% =5 [ B110183107 FEOR 87.73 2 3000
BE2M5 H_#imi =5 [ B110183106 MOE 86.45 3 EEEETIN
BE2k5 H_##mt%/5% [ B109183103 SO 89.43 1 4000
BE25 H_#Emi%l® [ B109183105 MOJE 89.09 2 3000
BE2k5 H_#EmiEl® [ B109183107 FOE 88.36 3 2000
BE2k5 B LE—F | B110175104 FTOfE 89.76 1 4000
BE2k5 B LE =% | B110175106 HOH 88.97 2 3000
BE2k5 B LE = | B110175110 ZI0= 88.06 3 EEEETIN
ERHEEMBH IR EEE—8 C110187132 #0839 90.52 1 4000
EREEMBH IR EEE—8 C110187145 HOBE 87.88 2 3000
ERHEEMBH RS —8 C110187122 O 85.81 3 2000
ERHEEMBHNRFEE—7] C110187251 FOffr 89.68 1 4000
ERHEEMBRHURFEE—| C110187218 FOF 86.05 2 3000
SREEMBRHNRFEE—7] C110187201 #%#O% 83.12 3 2000
EHREEMBH IR EEE B C109187137 ElOX 89.21 1 4000
EREEMBH IR EEE B C109187105 R0 87.04 2 3000
EREEMBHURFEEE B C109187165 EOif 86.88 3 2000
EHRHEEMBH R EEE -8 C108187101 $2O5h 94.11 1 4000
EREEMBH R EEE -8 C108187161 O 93.38 2 3000
ERHEEMBH U EEE—F C108187120 RO#E 89.95 3 2000
BRSSP H USRS C107187117 FOm 96.43 1 4000
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EHEAENEN BN RFEEEMHE C107187122 EO 94 2 3000
EHEAENEN BN RFEEEMHE C107187130 HOE 93.64 3 2000
EHRASTNER BN AFRE—H C110137112 SOfR 88.96 1 4000
EHASTHNER BN AFRE—F C110137111 HO1h 88.59 2 3000

BRAGNBRHNASKRE—F C110137114 ROE 85.26 3 EEEETIN
EREASMBRHNEERE—F C110170111 5RO 92.57 1 4000
EREEMBRHNEERE—F C110170115 1503l 89.18 2 3000

BRAFNBRHINESERE—F C110170101 +Oott 86.82 3 EEEETIN
EHEAETNSEG B IMERE—H C110198119 0 88.57 1 4000
EHEAETNSEM B IMERE—H C110198136 2IokE 88.2 2 3000
EHEAETNSEG B IMERE—H C110198117 HOET 86.78 3 2000
EHEEBMR el iE—H C110159154 EO0FH 97.4 1 4000
EHEBMR el iE—H C110159103 =058 94.68 2 3000
EHEEBR el iE—H C110159118 MO 89.65 3 2000
SRR PE s C109159129 Z OB 90.88 1 4000
SRR PEd s C109159130 RO& 90.08 2 3000
SRR PE s C109159134 &=om 89.52 3 2000
EHEBR el =5 C108159109 #0I8 95.72 1 4000
EHEBR el =5 C108159111 2ok 93.72 2 3000
EHEBR el =5 C108159120 BRO¥Y 93.33 3 2000
EHEBMR 7Y 1 PO ER C107159115 5ROE 95.22 1 4000
EHEBMR 7Y 1 PO ER C107159150 EO= 95 2 3000
EHEBMR 7Y 1 PO ER C107159151 =0 95 2 3000
BEEZSEMR NEs—H C110161105 FPO% 92.75 1 4000
BEEZEMR NEs—H C110161120 EOfM 89.82 2 3000
BEEZSER NEs—H C110161106 S03E 89.3 3 2000
BEEZER MEE_H C109161103 Z=OM 91.32 1 4000
BEEZER NEE_H C109161144 HO%E 91.3 2 3000
BEEZER MEE_H C109161129 FTO8% 89.59 3 2000
BEEZER MEE=H C108161103 FOE 95.21 1 4000
BEEZSER NEE=H C108161118 5ROIE 95.08 2 3000
BEEZSER NEE=H C108161129 BRO3H 94.23 3 2000
BEEZSER &V H Cc107161117 BRO'TE 96.5 1 4000
BEEZSER M EVH C107161125 #HOI8 94 2 3000
BEEZER M EVH C107161123 MOE 94 2 3000
ERATHER TFH—H C110112131 EOX 95.39 1 4000
ERATHEN TFH—H C110112168 MO, 88.8 2 3000
ERATHER TFH—H C110112103 FOF 88.31 3 2000
ERATHER FTFH_H C109112134 =0E 90.46 1 4000
ERATHER FTFH_H C109112113 =03 89.91 2 3000
ERATHER FTFH_H C109112130 1HOF 89.45 3 2000
ERATHER FTFH=H C108112112 FO4E 92.84 1 4000
ERATHEN FTFH=H C108112154 AROIR 92.63 2 3000
ERATHEN TFH=H C108112143 E01E 92 3 2000
ERATHNER FFHROH C107112152 MO 95.25 1 4000
ERATHEN FTEHR—H C110110125 5ROZK 91.58 1 4000
ERATHER FTEHR—H C110110101 O 89.61 2 3000
ERATHER FTEHR—H C110110133 15058 88.53 3 2000
ERATHNEN FTEZR—I C110110212 O 89.16 1 4000
ERATHNEN FTEZR—I C110110202 o) 88.53 2 3000
ERATHEN TEZR—I C110110204 EOE 87 3 2000
ERATHNER FTEH_H C109110150 BRO#E 93.92 1 4000
ERATHNEN FTEH_H C109110109 MO8 89.32 2 3000
ERATHNER FTEHR_H C109110122 EOE 89.04 3 2000
ERASTHNEN STHEZR_JD C109110218 BRO%E 92.24 1 4000
ERASTHNEN FTHEZRE_D C109110249 RO 89.13 2 3000
ERASTHNEN STHEZR_JD C109110221 HORE 89.08 3 2000
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ERATHER FTEHR=H C108110109 HOR 96.37 1 4000
ERATHER FTEHR=H C108110128 MoK 94.53 2 3000
ERATHER FTEHR=H C108110125 HEOE 92.79 3 2000
ERATHNEN THERHRE=C C108110250 BROFH 96.16 1 4000
ERATHNEN FTEHRE=C C108110227 BOE 93.22 2 3000
ERATHNE @éﬁf\EZ; C108110244 HO=E 89.67 3 2000
ERATHNER FEZRH C107110147 R0E 96.75 1 4000
ERATHNER FEZRH C107110119 =01 95.75 2 3000
ERATHNEN FEZRNS C107110245 FO3E 98.43 1 4000
ERATHNE @éﬁ%mz C107110240 =0fE 98.43 1 4000
ERATHNEN FEZRNS C107110207 FO4E 94.5 3 2000
EHRATHNE IE ET—H C110151154 RO 91.65 1 4000
ERATHER NET—H C110151124 FOiE 91.5 2 3000
ERATHER NET—H C110151109 FFOE 91.14 3 2000
EHATHER NET_H C109151104 O 91.11 1 4000
EHATHNEN NET_H C109151169 JO% 87.96 2 3000
ERATHER NET_H C109151110 HOES 87.91 3 2000
ERATHER NET=H C108151119 MOZE 93.61 1 4000
ERATHNER NET=H C108151107 PO 92.65 2 3000
ERATHER NET=H C108151109 =0m 90.79 3 2000
EHATHNER  NETIH C107151103 B O3k 95.79 1 4000
T2k P+ —H C110146101 o 87 1 4000
T2k M+ —H C110146117 BROZR 83.38 2 3000
T2k P+ —H C110146126 FFO=Z 81 3 2000
T2k M= C110146204 RO 93.95 1 4000
T2k M= C110146206 5018 82.38 2 3000
T2k M= C110146203 1501 81.5 3 2000
T2k LA o C109146113 = O 91.19 1 4000
T2k LA o C109146129 MOl 90.74 2 3000
T2k LA o C109146181 =01H 86.46 3 2000
T2k e _2 C109146204 EO#E 95.08 1 4000
T2k e _2 C109146249 FOH; 89.13 2 3000
T2k e _2 C108146242 EO= 88.45 3 2000
T2k s =5 C108146141 #ORE 92.09 1 4000
T2k P =5 C108146119 =0F 90 2 3000
T2k s =5 C108146150 20 88.06 3 2000
T2k MEM=2 C108146220 ROfH 96.06 1 4000
T2k MEM=2 C108146249 FOH; 89.55 2 3000
T2k MEM=2 C108146206 RO 89.26 3 2000
T2k P{E#4 R C107146160 MO%E 95.64 1 4000
T2k P{E#4 7 ER C107146130 RO 90.38 2 3000
T2k P{E#4 7 ER C107146135 15078 90.33 3 2000
T2k eI C107146216 #Zoum 94.92 1 4000
T2k AR o L C107146211 5[ 93.36 2 3000
T2k eI C107146227 R0E 90.5 3 2000
T2k ME+—H C110141151 OB 91.96 1 4000
T2k ME+—H C110141101 BHOZ 89.7 2 3000
T2k ME+—H C110141113 BEOAP 88.57 3 2000
T2k Nt—2 C110141251 208 92.65 1 4000
T2k Nt—2 C110141254 HORY 92.6 2 3000
T2k Nt—2 C110141252 MOE 90.87 3 2000
T2k M+ _—H C109141160 EFOM 90.5 1 4000
T2k M+ _—H C109141145 5RO3R 88.96 2 3000
T2k M+ _—H C109141111 2ow 88.84 3 2000
T2k n+—2 C109141209 FOK 85.05 2 3000
T2k Nt+—2 C109141206 BEOE 81.73 3 2000
T2k ME=H C108141103 TOF 90.29 1 4000
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T2k ME=H C108141104 fiO& 89.9 2 3000
T2k ME=H C108141105 708 88.16 3 2000
T2k Nt=2 C108141213 FO= 88.14 1 4000
T2k Nt=2 C108141263 BRO%E 86.07 2 3000
T2k Nt=2 C108141229 ROR 84.61 3 2000
T2k P+ /gEa C107141106 ZOX 92.42 3 2000
T2k At uf L1 C107141244 RO 95.57 1 4000
T2k At uf L1 C107141201 =01h 93.71 3 2000
T2k P& —E C110142102 BROM#E 90.74 1 4000
T2k P& —E C110142110 =05 86.04 2 3000
T2k P& —E C110142125 R0E 85.9 3 2000
T2k mig—2 C110142240 EROM 89.07 1 4000
T2k mig—2 C110142202 MO 86.9 2 3000
T2k mig—2 C110142201 HO#E 86.74 3 2000
T2k g —m=A C110142355 Ot 87.14 1 4000
T2k ig—m=A C110142351 1508 85.13 2 3000
T2k ig—m=A C110142349 ARk 84.7 3 2000
T2k Pk C109142144 BROEE 93.09 1 4000
T2k P C109142112 F0o& 92.46 2 3000
T2k Pk _—_E C109142111 FFOR 90.54 3 2000
T2k mg_—2 C109142242 BO%E 86.5 1 4000
T2k mig_—2 C109142213 FOX 86.04 2 3000
T2k mg_—2 C108101128 =08/ 85.06 3 2000
T2k g _—™" C109142332 JLO# 86.8 1 4000
T2k g _—™" C109142307 5RO 84.65 2 3000
T2k g _—™" C109142308 F0s= 83.79 3 2000
T2k M= C108142140 1%Olk 90.35 1 4000
T2k M =5 C108142154 HOL 90.09 2 3000
T2k ] C108142155 BOJT 88.46 3 2000
T2k =2 C108142226 FOF 95.16 1 4000
T2k =2 C108142216 ROE 89.46 2 3000
T2k =2 C108142231 Fo& 88.89 3 2000
T2k =7 C108142302 EOou 93.64 1 4000
T2k =7 C108142301 MOE 90.75 2 3000
T2k ig=7" C108142313 =0 88.48 3 2000
T2k PU#% /g ER C107142155 = OFf 93.67 1 4000
T2k U /g ER C107142140 HOE 92.25 2 3000
T2k Y% /g ER C107142160 EOoX 91.5 3 2000
T2k s C107142203 MO 94.36 1 4000
T2k sz C107142217 g0X 92.5 2 3000
T2k TR C107142319 BRO%# 92.38 1 4000
T2k TR C107142333 =0% 90 3 2000
EHRATHNE E—H C110154114 ETOU 86.17 1 4000
ERATHNE E—H C110154146 1501E 85.65 2 3000
ERATHNE E—H C110154101 BROET 85 3 2000
ERATHNE N&E—4 C110154254 =0#% 87.76 1 4000
ERATHNE N&E—4 C110154243 ZOE 86.68 2 3000
ERATHN S N&E—4 C110154255 iz[0) £ 83.26 3 2000
ERATHNE NE—RW C110154313 BO§# 90.65 1 4000
EHREATHNE NE—RW C110154322 )7 89.61 2 3000
ERATHNE NE—RW C110154336 SFOR 87.87 3 2000
EHRATHNE E_H C109154145 %03 89.5 1 4000
EHRATHNE ME_H C109154109 BRO%E 85.95 2 3000
EHRATHNE ME_H C109154124 =0% 84.75 3 2000
EHRATHNE N&E_4 C109154235 MOE 91.24 1 4000
ERATHNE N&E_4 C109154252 BROI 90.3 2 3000
ERATHE N&E_4 C109154251 =075 88.39 3 2000
FHOH H2H
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EHRATHNE NE_R C109154319 ROS 93.89 1 4000
ERATHNE NE_R C109154322 2078 91.5 2 3000
ERATHNE NE_RN C109187115 =0/ 90.54 3 2000
ERATHNE ME=H C108154136 ROE 91.41 1 4000
EHRATHNE &= C108154105 SO0 89.61 2 3000
ERATHNE &= C108154133 BROMH 88.32 3 2000
ERATHNE N&E=4 C108154226 BROF 92.58 1 4000
ERATHNE N&E=4 C108154223 EROf 90.89 2 3000
ERATHNE N&E=4 C108154214 JOA 90.31 3 2000
ERATHNE NE=W C108154338 BROTT 92.95 1 4000
ERATHNE NE=W C108185131 (O 92.85 2 3000
EHRATHNE NE=W C108154324 =0& 91.23 3 2000
EHRATHNE TJEs P C107154134 B Ok 93.18 1 4000
ERATHNE TJEsPnE C107154152 BRORX 91 3 2000
ERATHNE TJEs P C107154147 OF) 91 3 2000
ERATHNE & s C107154225 SROM 95.36 1 4000
ERATHNE & s C107154228 =0M 93.5 2 3000
ERATHNE +—H C110152103 =07 91.21 1 4000
ERATHNE +—H C110152139 EO 89.52 2 3000
ERATHNE +—H C110152101 EOhE 89.13 3 2000
EHRATHNE Nr—4 C110152236 HOsll 87.9 1 4000
ERATHNE N¥r—4 C110152244 B O 85.45 2 3000
ERATHNE N¥r—4 C110152237 BROFx 84.11 3 2000
ERATHNE L C110152338 BRORY 90 1 4000
EHRATHNE L C110152351 5ROFE 85.86 2 3000
ERATHNE N+—K C110152334 fROBS 83.05 3 2000
ERATHNE M+ _H C109152145 RO 89.91 1 4000
ERATHNE M+ _H C109152142 FHOH 89.71 2 3000
ERATHNE s _H C109152148 =03& 89.16 3 2000
EHRATHNE Nr_4 C109152242 MO 92.69 1 4000
ERATH B Nr_& C109152221 5ROIE 88.1 2 3000
ERATHNE Nr_4 C109152203 =028 84.67 3 2000
ERATHNE Nr_rN C109152310 =01% 89.11 1 4000
ERATHNE Nr_"N C109152351 HOE 87.42 2 3000
EHRATHNE Nr_rN C109152321 207 80.28 3 2000
ERATHNE M+ —=H C108152124 MOX 95.24 1 4000
EHRATHNE M+ =FH C108152123 FO=E 94.33 2 3000
ERATHNE M+ =H C108152110 #FOT 90.36 3 2000
ERATHNE =4 C108152210 Ho& 93.27 1 4000
ERATHNE =4 C108152239 7308 93.07 2 3000
ERATHNE =4 C108152203 o) 92.71 3 2000
ERATHE Nr=rn C108152352 o) 94.21 1 4000
EHRATHNE Nr=Kn C108152337 ZF0o& 93.38 2 3000
EHREATHNE Nr=Kn C108152320 £0E 92.76 3 2000
EHRATHNE 7P e C107152144 B0 93 1 4000
EHRATHNE 7P e C107152128 RO 93 1 4000
ERATHNE 7P e 1061244148 L0 92.1 3 2000
ERATHNE NH+rs C107152233 FOH 93 1 4000
ERATHNE M+PRA C107152311 Fo#2 96.75 1 4000
ERATNE MH+RA C107152302 RO 95.75 2 3000
ERATHNE MH+RA C107152301 BOF 92.06 3 2000

T2k P48 —H C110147116 =[0) 83.24 1 4000
T2k P48 —H C110147102 =O1h 81.23 2 3000
T2k P48 —H C110147136 15OER 79.91 3 2000
T2k E—2 C110147201 HHOTT 91.43 1 4000
T2k gE—2 C110147243 MOE 90.36 2 3000
T2k E—2 C110147258 FOH 88.56 3 2000
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T2k ME—" C110147305 BOFx 88.78 1 4000
T2k E—R C110147306 BROIR 82.4 3 2000
T2k P48 —H C109147108 F05 87.86 1 4000
T2k P48 —H C109147101 ERORY 87.26 2 3000
T2k P48 —H C109147129 BRORY 86.95 3 2000
T2k E_Z C109147238 SOA] 89.67 1 4000
T2k E_Z C109147203 $201E 88.41 2 3000
T2k E_Z C109147206 S TOBN 86.25 3 2000
T2k TR C109147354 2089 87.96 1 4000
T2k TR C109147303 KOH 86.3 2 3000
T2k TR " C109147356 =07 85.65 3 2000
T2k P48 =5 C108147128 MOZ 90.33 1 4000
T2k P48 =5 C108147101 20X 86.95 2 3000
T2k P48 =5 C108147113 1505t 85.47 3 2000
T2k =2 C108147229 sROfE 86.85 1 4000
T2k E=2 C108147244 Z0J8 86.5 2 3000
T2k E=2 C108147234 £0#2 85.3 3 2000
T2k TE=7 C108147343 7307 89.19 1 4000
T2k TE=7" C108147313 BROTA 87.83 2 3000
T2k E= C108147310 EOE 87.17 3 2000
T2k Y48 /O R C107147110 RO 91.14 1 4000
T2k ARz C107147250 05 92.4 2 3000
T2k AR A C107147319 MOET 89.25 2 3000
T2k NI —H C110143111 ZO7n 87.67 1 4000
T2k NI —H C110143141 MO 86.7 2 3000
T2k NI —H C110143151 5ROET 86.21 3 2000
T2k PIT_—H5 C109143134 5RO0E 88.13 1 4000
T2k MI_H C109143130 BROE 86 2 3000
T2k MI_H C109143115 F05E 85.09 3 2000
T2k NI =H C108143137 BROGA 91.24 1 4000
T2k NI =H C108143136 HOH 89.68 2 3000
T2k NI =H C108143143 =085 89.4 3 2000
T2k 7L PEd C107143148 ROk 96.29 1 4000
T2k 7L PEd C107143138 PhOZE 93.86 2 3000
T2k EERZ—H C110106150 FOF 89.63 1 4000
T2k EERZ—H C110106102 HO%E 89.53 2 3000
T2k EERZ—H C110106121 2205 87.89 3 2000
T2k EERZ S C110106208 FO% 89.57 1 4000
T2k EERZ S C110106233 HOF 85.19 2 3000
T2k EERZ S C110106222 #0019 84.29 3 2000
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EHEEBMR MEH=-H C108126114 HOx 93.62 3 2000
EHEEBMR e Z I C107126125 HHOB 94.33 2 3000
BEEZER 252 —H C110129112 E{e)=] 91.77 1 4000
BEEZSER 25 —H C110129142 =0% 90.91 2 3000
BEEZER 252 —H C110129104 RO 90.28 3 2000
BEEZEMR 52— C110129226 B0 91.41 1 4000
BEEZSER BE:R2—0 C110129206 #HOF 89.6 2 3000
BEEZEMR BE:R2—0 C110129211 HOE 89.09 3 2000
BEEZER BEX_H C109129128 MOE 94.71 1 4000
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EESS -0 ZEZ_H C109129133 BROZE 91.17 2 3000
BEEZEMR BER_H C109129124 MOfE 87.96 3 2000
BEEZER BEZR_O C109129213 0% 95.88 1 4000
BEEZER BEZR_O C109129229 FORE 92.33 2 3000
BEEZER BEZR_O C109129228 BOoF 91.18 3 2000
BEEZER BELR-H C108129107 5RO 94.47 1 4000
BEEZER BELR-H C108129125 150E 93.95 2 3000
BEEZSEMR BELR-H C108129114 BROZ 93.59 3 2000
BEEZSER BER=C C108129223 BROfZ 98.11 1 4000
BEEZSER BER=C C108129233 # OIS 94 2 3000
BEEZER BER=C C108129202 EOA 93.41 3 2000
BEEZER BEELRAH C107129118 FOZ 96.86 1 4000
EESS -0 ZE AR C107129120 RO 95.5 3 2000
BEEZER ZEZRNS C107163134 MO 90.45 1 4000
BEEZSER _H%IEIZ; C107163116 MOTT 89.74 2 3000
BEEZER B2 C107163106 =0X 89.67 3 2000
BEER H IEB'Z?E%—EF' C110186116 EO% 87.78 1 4000
BEBR HPOiEM—8 | C110186124 2IOFT 86.38 2 3000
BEBR HPOiEM—8 | C110186144 RO 85.62 3 2000
BEBR HIUEE/—4 | C110186245 20H 85.6 1 4000
BEBR HIUEE/—4 | C110186210 Alok 85.2 2 3000
BEBR HI#E/—4 | C110186203 =0E 83.4 3 2000
BEBR HIU#SA _F | C109186101 RO 88.83 1 4000
BEER HPUESA: _F | C109186102 =08 84.13 2 3000
BEBR HIESA _F | C109186127 BOE 82.75 3 2000
BEER HIUES/ _— 4 | C109186220 BOZ) 89.76 1 4000
BEBR HIUES/ _— 4 | C109186224 EROF% 85.46 2 3000
BEER HIUEE/ _— 4 | C108186230 208 85.27 3 2000
BEER HPUfiSEM =5 | C108186103 SO 94.75 1 4000
BEER HPUfiEM =5 | C108186106 =018 94.7 2 3000
BEER HPUfiEM—=5F | C108186102 #ZOHt 90.11 3 2000
BEER HIRiEMm =4 | C108186226 =0H 94 1 4000
BEER HIUEE/ =2 | C108186205 BRO%E 93.55 2 3000
BEEMR HIUEE =2 | C108186257 (Z18ES 90.95 3 2000
BEBR HIUESALIIE | C107186142 EROF) 87 2 3000
BEBR HIUESAI L | C107186224 O 91.75 1 4000
BEBR HPOiEMmMN L | C107186214 203k 89.2 2 3000
BEBR HPOiEMIN L | C107186206 5RO 88 3 2000
BEBR HPU#E—F | C110185123 ROE 87.39 1 4000
BEBR HPU#E—F | C110185120 2o 85.08 2 3000
BEBR HPUE_F | C109185104 708 88.53 2 3000
BEBR HPU#E_F | C109185118 5O 85.16 3 2000
BEBR HPUE=F | C108185126 &=O%Hi 88.21 1 4000
BEER HPUE=F | C108185114 ?O?E 88 2 3000
BE2k5 HPME=F [ C108285101 =) 85.71 3 2000
BEER HPU#EEAIYE | C107185137 =0R= 90.89 1 4000
BEBR HPUEEAIYE | C107185109 =08t 85.07 2 3000
BEBR HPU B | C107185116 BRO 81.18 3 2000
K2 R HPUs8IE—H | C110184146 208 88.04 1 4000
KR R HINx8IE—F [ C110184101 208 86.73 2 3000
K2R HPOs8IE—F | C110184120 JTOE 84.36 3 2000
KR R HPUs8IR B | C109184106 =05 84.87 1 4000
KR R HPOs8IR 8 | C109184110 =0k 84.86 2 3000
K2 R HIUs 8RB | C109184114 20/ 83.57 3 2000
KB R HPUs8IR—=F | C108184126 MOE 94.63 1 4000
K2 R HPNs 8= | C108284101 FOF% 92 2 3000
KR R HPUs8IR=F | C108184130 MO# 91.35 3 2000
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KRR HPU8IRME | C107184150 BROIE 95.75 1 4000
KRR HPUs8IRME | C107284109 BROE 94.5 2 3000
KRR HPUs8IRME | C107184129 =04 94.3 3 2000
BEER HPEmx—F | C110182120 MOZ) 92.18 1 4000
BEBR HPEMmx—F | C110182116 FOA] 91.89 2 3000
BEENR HPEmx—F | C110182103 HO%E 90.32 3 2000
BEER HPUE M _F | C109182104 FOE 88.93 1 4000
BEEMk HIOf Ak —F | C109182102 %0 88.3 2 3000
BEER HPE M _F | C109182134 =0 87.16 3 2000
BEER HPOx M= | C108182108 EZOH 92.04 1 4000
BEER HPOx M= | C108182136 E0R 90.13 2 3000
BEER HPOx M= | C108182126 HHO%E 84.05 3 2000
BEER HPEmxIHE | C107182109 BRO= 99 1 4000
BEER HPEmxIHE | C107182102 BRONE 88 3 2000
BEBR HPOf#m#—5 | C110183120 £E=0ft 87.64 1 4000
BEER HPOf#m#%—5 | C110183136 5019 86.14 2 3000
BEBR HPOf#m#%—5 | C110183137 BROIL 83.29 3 2000
BEER HPUx#m#—2 | C110183206 Fo& 86.31 1 4000
BEER HPUx#m—2 | C110183234 F07) 85.5 2 3000
BEER HPx#m#—2 | C110183239 150 85.08 3 2000
BEER HPU#m _— 2 | C109183233 B OEf 92.77 1 4000
BEBR HPO#m _— 2 | C109183232 MORE 91.81 2 3000
BEER HPU#m _— 2 | C109183209 FTOZE 89.88 3 2000
BEER HPUx#m# =2 | C108183205 770 93.93 1 4000
BEER HPx#m# =2 | C108183209 05 91.56 2 3000
BEER HIUx#m =2 | C108183222 =0 90.44 3 2000
BEER HPxm#INs | C107183228 2ok 93 1 4000
BEER HPxw#INs | C107183205 BROER 89.67 2 3000
BEBh HIEmiEls | C107183204 MOE 89.4 3 2000
BEBR HPUx8&E—H | C110181103 E20% 87.09 1 4000
BEER HIx8&E—F [ C110181131 MOl 85.45 2 3000
BEER HIs8E—H | C110181149 BOF 82.85 3 2000
BEER HIx8&E_F [ C109181121 2losz 83.54 2 3000
BEER HIs8&E_H | C109181127 EOtk 79.5 3 2000
BEEMk HIEE = C108181181 ERO 89.46 1 4000
BEER HIUf8&E—F | C108181114 =0& 86.73 2 3000
BEBh HI8E=H [ C108181145 =015 84.87 3 EEEETIN
BEBR HPUs 8 &EME | 107181125 MO 89.1 2 3000
BEBR HPUs8&EMNE | C107181137 FoxX 88.64 3 2000
BEBkR  |HIVEBSHEE—H C110197129 2I0#k 88.87 1 4000
BE2k  |HIWSSXRE—F C110197113 FOE 87.78 2 3000
BEBR  |HIVEBSHEE—H C110197114 FOR 85.17 3 2000
K2 R HIUEo@E—F | C110179101 $80I8 92.43 1 4000
KB 5R HIEo@E—F | C110179126 Mo 85.43 2 3000
K2 R HIEo@E—F | C110179108 RORR 84.29 3 2000
K2 R HIUEoRE _F | C109179102 ZRO#t 88.23 1 4000
KE 2 HIUs@E_F | C109179186 5ROOFE 85 2 3000
K2R HIUEoRE _HF | C109179132 =078 84.45 3 2000
K2 R HIs #E=F | C108179112 EROM 92.39 1 4000
KR R HIEoRE—F | C108179109 RO 89.05 2 3000
KB R HIUEoRE—F | C108179144 ZOfm 86.5 3 2000
KB R HIUso@EME | 107179123 ROZ 91.33 1 4000
KB R HIUEoRETE | C107179164 £01E 91.2 2 3000
KRR HIOsoaEME | 107179112 =0% 90.36 3 2000
KB R HI&s/KE—H [ C110176101 ZRORE 89.85 1 4000
KR R HPUs/KE—H | C110176144 SO 89.7 2 3000
KRR HPUs/KE—H | C110176128 =0% 88.22 3 2000
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KRR HIUx/KE—ZL | C110176250 HO= 85.95 1 4000
KRR HIUx/KE—ZL | C110176243 2lois 85.3 2 3000
KRR HIUx/KE—ZL | C110176242 ROF% 84.7 3 2000
KR R HPOs/KE_H | C109176105 =0#% 91.65 1 4000
KRR HIUEKE_HF | C109176134 =08 90.19 2 3000
KR R HPUs/KE_H | C108176146 EOM 89.9 3 2000
KRR HIUEKE_4 | C109176252 E20RE 91.14 1 4000
K2 R HIOx/KE -4 | C109176253 0oL 89.87 2 3000
KR R HIUEKEB_4 | C109176207 BROtE 89.17 3 2000
KR R HPO&s/KE=F | C108176149 5ROBX 88.71 1 4000
K2 R HPUs/KE=F | C108176120 F O 86.53 2 3000
KRR HIU#/KE=F | C108176108 T Oiff 86.52 3 2000
KB R HIUx/KE=4 | C108176208 HOE 92.41 1 4000
KRR HIx/KE=4 | C108176232 BO%E 92.35 2 3000
KR R HIUx/KE=4 | C€108176207 208 88.29 3 2000
K2R HPO/KEMME | C107176143 BROIS 92.88 1 4000
KR R HPO/KEMME | C107176125 FEOYF 91.35 2 3000
K2R HPUs/KEME | C107176101 FFOH 91.14 3 2000
K2 R HIUx/KEMNZ | C107176249 ZROE 90.47 1 4000
K2 R HIUs/KEMNZ | C107176246 MO&E 90.06 3 2000
KRR HPU/K&E—H [ C110177101 501 87.95 1 4000
KB R HPU/K&E—H | C110177105 MOl 85.7 2 3000
K2 R HPU/K&E—H | C110177104 BROZ 84.71 3 2000
K2 R HI&x/K&E—ZL | C110177201 2otz 87.57 1 4000
KB R HPU&s/K&E—L | C110177250 TO& 81.36 2 3000
K2 R HIxKE—-L | C110177221 =0 7.7 3 2000
KRR HPO/K&E_H | C109177110 MOIE 83.16 1 4000
K2 R HPU#/K&E_H | C109177150 MO%= 79.71 2 3000
KR R HPUEKE _H | C109177181 BROT 78.26 3 2000
K2 R HIs/K&E L | C109177206 E0H 88.06 1 4000
K2 R HIUs/K&E L | C109177218 EORE 84 2 3000
KR R HIxKE L | C109177211 EOLE 83.79 3 2000
K2 R HPU/K&E=F | C108177106 Hho= 86.87 1 4000
K2R HPU/K&E=F | C108177124 0¥ 86.14 2 3000
KRR HPUs/K&E=F | C108177117 FOoF 83.95 3 2000
KR R HPUs/K&E=2 | €108177209 =0X 89.16 1 4000
KR R HIx/K&E=4 | €108177215 ZOF 85.43 2 3000
KB R HIx/K&E=, | C108177281 #O% 83 3 2000
KB R HPO/K&EMNE | C107177119 FOF% 85.69 2 3000
KB R HPU#/K&EMHE | C107177153 FF01h 85.07 3 2000
KRR HPU/K&EMNZ | C107177238 MO 88.28 1 4000
K2 R HIU&/K&EMNZ | C107177227 5ROIE 85.78 2 3000
K2R HPU/K&EMNZ | C107177239 FEOE 85.78 2 3000
K2R HIUE 84 —HF | C110178137 RO7K 90.06 1 4000
K2R HIUE 84 —F | C110178124 =0/ 85.31 2 3000
K2R HIUE 84 —F | C110178129 FOt 85 3 2000
K2 R HIUE 84 _F | C109178135 BROZ 87.83 1 4000
K2 R HIUE 84 _F | C109178138 0% 87.31 2 3000
K2 R HIUE 84 _F | C109178126 EZOR 82 3 2000
KR R HIUE 84 —F | C108178106 2o 92.35 1 4000
K2R HINssE=F [ C108178181 ZOE 89.5 2 3000
KR R HIUE 84 —F | C108178160 oy 80.2 3 2000
KR R HPUs84£EME | C107178102 =08 93.23 1 4000
K2 R HIUE 4R | C107178119 BRO! 92.25 2 3000
KB R HIUE 84 HE | C107178128 FEOE 88.75 3 2000

BEEEENR | EEEBE—F [ C110156134 BROZ 91.29 1 4000
BEEEENR | EEFEBER—F | C110156102 HOE 86.88 2 3000
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PEEESE | HEEFEA—F | C110156142 EZO:R 86.59 3 2000
PEESE | HEEFEA—-L | C110156249 =0%x 87.63 1 4000
HESESR | EEEFEA—0 | C110156217 H#HOR 85.57 2 3000
PEEESE | HEEFEA—-L | C110156240 MOR 84.76 3 2000
PEESE | HEEFEA_F | C109156103 F O 92.11 1 4000
PEESE | HEEFEA_F | C109156150 201 88.89 2 3000
RSB | HEEFEA_F | C109156134 =02 85.59 3 2000
PEESE | HEFEFEA_L | C109156233 WOZ& 91.95 1 4000
PEESE | HEFEFEA_L | C109156215 =089 88.42 2 3000
PEESE | HEEFEA_L | C109193237 15OBH 87.62 3 2000
PEESE | HEEFEA=F | C108156124 ZROTE 94.5 1 4000
PEESE | HEEFEA=F | C108156116 BRO% 94.25 2 3000
PEESE | HEEHFEA=F | C108156109 =07 93.06 3 2000
PEESE | HEEEFE A=, | C108156224 RO 92.82 1 4000
PEEESE | HEFEFE A=, | C108156236 2OW 92.47 2 3000
PHEESE | HEEFEA=,| C108156223 ZR0%H, 92.44 3 2000
PEESE | HEHFAIUE | C107156136 5RO T 92.5 3 2000
BEISEELS T E2f —ER C110162101 =015 88 1 4000
BEISEELS 72 f —ER C110162124 EXOFx 87.1 2 3000
BEISEELS T2 fe—ER C110162115 il O)=) 86.52 3 2000
BEISEELS TOEr %R _— BB C109162124 mOo18 91.04 1 4000
BEISEELS TIEA %R _— BB C109162128 = O 90.52 2 3000
BEISEELS T2 %R _— BB C109162127 BOX 90.48 3 2000
BEISEELS VY2 #e — BB C108162143 HO58 93.67 1 4000
BEISEELS VY2 #e = BB C108162139 =0 92.33 2 3000
BEISEELS VY2 %e = BB C108162118 =0% 89.42 3 2000
BEISEELS VY B2 %7 1Y BB C107162125 BOE 96.13 1 4000
BEISEELS /Y B2 %7 1Y BB C107162101 oY=l 96 2 3000
BEISEELS VY B2 %7 1Y BB C107162132 MOz 94.86 3 2000
BEISEELS Y4 C107162204 [RO% 93 1 4000
BEISEELS YA C107162206 RO 91.88 2 3000
BEISEELS Y4 C107162231 Aok 91.5 3 2000
HERFER [HUEEEZR—F C110193147 Ok 86.52 1 4000
ERFER [HUEEEZ—F C110193124 HOE 82 2 3000
ERFER (HUEEEZ—F C110193141 O 81.48 3 2000
HERFER [HUEEEZR—[ C110193204 20% 91.85 1 4000
HERFER [HUEEEER—[ C110193211 FO% 88.75 2 3000
HERFER [HUEEEAR—I[ C110193236 E£0= 88.55 3 2000
HERFER (HUEEEZR_F C109193142 IIO4E 90.35 1 4000
ERFER [HUEEEZR_F C109193112 B0 89.65 2 3000
ERFER [HUEEEZR_F C109193129 1BOBF 86.52 3 2000
HERFER ([HUEEBELR_ [ C109193258 2)03), 93.86 1 4000
HERFER ([HUEEBELR_ [ C109193229 HEO%N 89 2 3000
HERFER (HUEEELR_ [ C109193248 %08) 87.19 3 2000
HERFER [HUEEEAR=F C108193104 #0315 91.67 1 4000
ERFER [HUEEBEAR=F C108193135 2RO 915 2 3000
ERFER (HUEEELR=F C108193121 =04 89.67 3 2000
HERFER ([HUEEBEAR=7[ C108193229 [ROFH 93.08 1 4000
HERFER ([HUEEBEAR=7( C108193243 =01 89.2 2 3000
HERFER (HUEEBEAR=7 C108193248 BROMR 88.09 3 2000
HERFER (HUEEEARIUE C107193140 B0E 94.29 1 4000
HERFER [HUEEEARIUE C107193113 1 O4s 93.86 2 3000
HERFER (BN EEARIUE C107193137 FOIE 92.46 3 2000
HERFER [HUEEEARIN[ C107190107 208 88.67 2 3000
HERFER [HUEEEARIN[ C107193204 205% 87.83 3 2000
LTS R (BT AP HEBFE—F | C110196102 HOH 89.45 1 4000
LTS R (B ADHEBIE—FB | C110196104 210zF 88.43 2 3000
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5B (Z2MEU ADZ2E—F | C110196103 FOE 88.24 3 EEEETIN
BEBh IR EDS _ D109183114 =10k 90.5 1 4000
BEER i ES D109183106 E0ORE 79.17 2 3000
BEBh IR ES _ D109183103 O 78.87 3 EEEESTIN
BEER i ES = D108183138 =0 92.46 1 4000
BEBR i ES = D108183120 #IO& 90.69 2 3000
BEBR i ESE = D108183118 FO# 88.92 3 2000
BEBh mik E 2N D107183141 HOH 91 1 4000
BEER B A= 2 Y D107183137 FFOIR 87 3 2000
T2k E_REARZ=F B110241108 RO 91.5 1 4000
T2k [E_RIARZ=F B110241104 #ROME 89.45 2 3000
T2k E_REIARZ=F B110241120 BROE 86.8 3 2000
T2k E_REARZIHE B109241102 FPOHA 92.11 1 4000
T2k E_REIARZIHE B109241128 %018 90.21 2 3000
T2k  [E_RIARZMNHE B109241123 BRO1E 90.16 3 EEEETIN
BEEE8M E_RMREZ=F B110262101 F0zx= 95.47 1 4000
BEESENR E_RURA=H B110262118 HOE 87.16 2 3000
BFEES2ER E_RURA=5H B110262105 S0E 85.95 3 EEEESTIN
BEESENR E_RURAIE B109262116 BOE 94.52 1 4000
BEESER E_RURAIE B109262111 BROE 92.42 2 3000
BFEES2EMR E_RURAIHE B109262103 H O3 91.25 3 EEEEIIN
EHEASTNEGENRFE—H C110287110 50 87.24 1 4000
EHASTNEGENRFEEE—H C110287101 #Of% 84.86 2 3000
ERATHE L@Tﬂifﬁgﬁ%—EE C110287133 ROE] 83.57 3 2000
EHEASTNEGENRFEE—H C108287125 BOSr 84.25 1 4000
EHEASTNEGENRFEE—H C108287140 #OlIE 83.15 2 3000
EHEASTNEGEN R FEEEMHE C107287143 5RO 90.86 1 4000
EHEASTNEGE N RFEEEMH C107287133 FTOH 90.75 2 3000
EHEASTNEGENRFEEEMHE C107287102 FO4 90.75 2 3000
S8k  [ENEETR—F C110259111 2loss 94 1 4000
EEB  |[ENEETZR—F C110259133 iil{e]: 93.72 2 3000
EEB  |[ENEETZR—F C110259136 5ROR 89.44 3 2000
EEB  [ENEETZR_F C109259170 RO 93.08 1 4000
EEB  |[ENERETZR_F C109259116 FOfE 93 2 3000
EEB  |[ENRETZR_F C109259122 ForE 89.33 3 2000
EEBR  |[ENRETZR=F C108259142 =0 94.65 1 4000
EEBk  |[ENEETZR=F C108259149 f@OﬁD 93.29 2 3000
EEBE  |[ENEETZR=F C108259105 RO#E 92.06 3 2000
EEB  [ENEETZRIUE C107259171 0k 91.38 1 4000
S8  [ENERETZRIUE C107259131 2I0& 87.87 2 3000
EEB  [ENNRETZRIUE C108259137 SO 87 3 2000
BEEEEMR ENREER—H C110261104 FO&E 92.68 1 4000
BEESENR ENREER—H C110261116 BRO%E 92.53 2 3000
BEESEN ENREER—F C110261125 oz 89.68 3 2000
BEESENR ENREER_F C109261113 209 93.63 1 4000
BEESEN ENRESER_F| C109261153 =03 90.23 2 3000
BEESENR ENREER_H| C109261156 MO1h 85.79 3 2000
BEESENR EREER=F C107261104 2I0& 92.79 1 4000
BEESEN ENREER=F C108261113 %035 91.71 2 3000
BEESENR ENREER=F C108261129 O 91.12 3 2000
BEESER ENRESEZRIUE 2105132104 BROYN 93.57 1 4000
BEESENR ENREEZRINE C107261121 ABOHA 92.38 2 3000
BEESEN ENRESERINE C107261140 20H 92.38 2 3000
T2k EIR(EMZ—FH C110246107 HOY5 84.05 3 2000
T2k ENRIEM AR _H C109246123 FFOF 94.5 1 4000
T2k ENRIEM AR _H C109246170 0% 94.05 2 3000
T2k ENEIEM AR _H C109246121 HOX 92.6 3 2000
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T2k EIR(EMZ = C108246176 Zlox 91.32 1 4000
T2k EIRIEMZH = C108246105 O 85.78 2 3000
T2k EIREMZH = C108246123 HOf 84.08 3 2000
T2k EIRAEMZIIH  C107246106 FOx 88.06 1 4000
T2k EIRIEM %5 2106101146 ho#% 83.33 2 3000
T2k EIRAE# %5 C107246109 MO&E 83.13 3 2000
T2k ENEEM AR — C110242135 BO5 90.64 1 4000
T2k ENEEM AR — C110242103 BO= 85 2 3000
T2k EIUR S C110242107 EOZK 83.13 3 2000
T2k [EREmER_F C109242124 EOfE 87.75 1 4000
T2k EVR S C109242122 B Ok 87.63 2 3000
T2k ENEEM SR 5 C109242138 =0% 85.95 3 2000
T2k EIR M Z =5 C107242106 SO 89.71 1 4000
T2k EIR M Z =5 C108243118 ROE 85.18 2 3000
T2k EIR S =5 C108242139 =0Z 82.29 3 2000
T2k EMREM AR INE C107242170 MO 92.39 1 4000
T2k EMEEMAINE C107242110 ROE 89.35 2 3000
T2k [EREmRE C107242137 FOlh 87.76 3 2000
EHEASTNEGENIRBERZ—H C110254113 HOR 88.25 1 4000
EHEASTNEGENIRBEKZ—H C110254108 ROJL 86.94 2 3000
EHEASTNEGENIRBERZ—H C110254134 O 83.94 3 2000
EHEASTNBGENIREKZ _H C107254120 0% 91.8 1 4000
EHEASTNEGENIRBEKZ _H C108254138 FOH 87.8 2 3000
EHEATNBGENIRBERZ _H C109254133 ROta 86.67 3 2000
EHEATNBGENIRBERZ=H C108254109 EOTT 92.18 1 4000
EHASTNEGENIRBERZ=F C108254125 ZoZ 91.33 2 3000
EHASTNBGENIRBERZ=F C108252232 HORE 89.89 3 2000
EHEASTNBGENIRBEHZIHE C107254113 R0E 90 1 4000
EHEASTNEGENIRBERZIIH 2106104148 F05l 89.94 2 3000
EHEASTNBGENIRBHZIHE C107254116 BROF 89.2 3 2000
EHASTNEGENNREFZ—H C110252106 PO 89 1 4000
ERATNEGENNREFZ—H C110252122 Ol 88.95 2 3000
EHASTNEGENNREFZ—H C110252108 O 88.13 3 2000
EHRATNEGENREF - C110252233 5ROBH 94.41 1 4000
ERASTNEGENREF 2 C110252215 £03h 93.48 2 3000
EHASTNEGENREF - C110252201 BOZE 91.32 3 2000
EHASTNEGENNREFZ_H C109252120 HOIE 87.11 1 4000
EHASTNEGENREFZ_F C109252101 7012 85.05 2 3000
EHRASTNEGENREFZ_F C109252109 F05= 84.54 3 EEEETIN
ERASTNEGENREF R _J| C109252228 F0O= 91.18 1 4000
EHASTNBEENREF 2 _J C109252208 HOZE 90.09 2 3000
ERASTNEGENREF 2 _J C109252206 FOljie 88.82 3 2000
EHATNEGENREFZ=H C108252104 jE{0)23 93.17 1 4000
EHRATNEGENREFZ=H C108252106 fEOR! 92.33 2 3000
EHASTNEGENREFZ=H C108252179 FTORY 92.29 3 2000
ERATNEGENREF = C108252216 =] 90.07 1 4000
ERATNBGENNREF = C108252225 BOox 83.8 2 3000
EREAEMBERENREFZ =] C108252219 15089 81.92 3 EEEETIN
EHASTNEGENIREFZRMHE C107252127 HOH) 91.82 1 4000
EHRASTNEGENIREFZMHE C107252118 o4 90.45 2 3000
EREEMBERENREFZIE C107252115 =OkE 87.71 3 EEEETIN
EHASTNEGENNREF LML C107252203 RO 93.36 1 4000
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